Cilculo B - Prova 1

Nome:

, Resolva as integrais
: 4
4‘0 1./sec (Inz) -

72 -4z -4
1.G 2/z3 272 + 4z — Sd:c
1.0 /s1nx—cosa:+2

00 1
(0 4'/00;?:1“

4.0 5. Temos que o = 1 _ L. Explique se vale ou ndo a equagio

/100-5(;11T)d$=/1w31;d$~/1wzi1dx

Tabela de Integrais
fazhdz =2 (n#-1)

n+1
[idz=Inz
fefdx=¢"
[sinz dx = —coszx

Jcosz dr =sinx
Jtanz dz = In | sec z|
[cotz dz = —In|cscz|
[secz dz = In|secz + tan z|
Jescx dz = In|cscz — cot z|
[sec’z dr =tanz
Jesc?z dz = —cotx

[secx tanz dx = secx
Jescx cotxdxr = —cscx

Relagoes teis

sinmz sinnz = 1 cos(m — n)z — § cos(m + n)z
cosmz cosnz = 3 cos(m + n)z + § cos(m — n)z
sinmz cosnz = 1 sin(m — n)z + §sin(m +n)z

. = 2227, i s . R - ] 1—22
Substituicao util: z =tan3, sinz =135, cCOST =i
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